| Efficiency vs Dxy |
> 0.2
1% r : : : : : : :
O | N N N N N N N

0 0,18 P e e e
< S A S

R H s S s
Q L : : : : : : :

2 0.14p e o S C S
o2 i

O

eff

C [
Illlpl TT

10 15 20
TP dxy (cm)

50 =15 =10 -5

—— B M_mk I|t_s't'ep2_tt‘gar-prr:ase%-newgeom
ici —_— angle_step2_ttbar-phasel-newgeom
| EfflClency vs Dz | —+— DOQM”fast_ste tfbar-pr?asel-newggom

—a— UélVl_Ol’i i_nal SIEPZ_TDar-pmndasel-newgeom

0.2 —— DQM”pixelCPETemplate_step2_ttbar-phasel-newgeom
N . T ; T X X
© N N N N N

9 018
> : : : : :
L

O - : : : : :
E 014 Frrereree frorereeeee AR IR AR
() : : : :

0020 fri |  S—

0614 S S O 1
008 -4 [ g
aoa?uy -------------------------------- N | -

0.0af [ {IHE-BURUR o R
0.02f -t HEA e g R

et : R

Ratio
H

°530

10 20 30
TP dz (cm)



	Contents
	Page 1


